Marking Scheme-Practice Paper 4

COMPUTER SCIENCE (CPU)
(SUBJECT CODE: 906)

Note: Apart from the marking instructions, a teacher can evaluate at his discretion.

sAle: 3fehel fAgelt & 3remmar, U RIgTh 39 [AARTER Hediched T Hehell &

Maximum Marks: 40 Time: 2:30 hours

General Instructions:

This question paper is divided into 4 Sections - A, B and C and D.
Section A consists of 1 question (10 parts -Objective Type of 1 mark each).
Section B consists of 4 questions (2-5). Each question carries 1 mark.

iv. Section C consists of 5 questions (6-10). Each question carries 2 marks.
v. Section D consists of 4 questions (11-14). Each question carries 4 marks.
Internal choices are given in all 4 questions.
SECTION A
(Each part of the question carries 1 Mark)
1(i) Which of the following is not a web browser?
fArafaf@a & @ i a1 v 39 JER AET 87
a) Chrome / shIH
b) Firefox / WIS
c) Photoshop / ®rerRimg
d) Safari / IHRY
Ans | c) Photoshop / WIereId
1 Mark for correct identification.
1(ii) Which SQL function is used to retrieve the minimum value from a

given column?

fordl 13T 91T column & FTaH AT 9Ied & & T fha SQL Heree
T 39TeT fohar SITdr g2

a) AVG( )

b) MIN( )

c) MAX()

d) COUNT( )

Ans | b) MIN( )

1 Mark for correct identification.

1(iii)

What does the HTML tag <br> represent?
HTML 31 &1 <br> crifdr 87
a) Bold / §ics




b) Brown / §T3a1
c) Break / §&
d) Black / sel&
Ans | c) Break / si&
1 Mark for correct identification.

1(iv) If the elements “G”, “I”, “R”, and “L” are placed in a stack and are
removed one at a time, in what order will they be removed?
gfe element "G", "I", "R", 33X "L" &I Us stack H @ AT § 3R TH
IR # ger & Srar 8, df 3¢ R A # gerr Sreen?

a) L,R,I,G
b) G,I,R,L
c) LILG,R
d) R,I,G,L
Ans | a) LR,I.G
1 Mark to identify the order of removal from stack.
1(v) tag is used to add hyperlink in HTML.
&7 FT 39T HTML & geWRids Siga & faw fmar
1T gl
Ans | <a>
1 Mark for writing the correct HTML tag.
Note: Deduct 2 mark for not writing < > symbol.

1(vi) C++ uses the operator for performing AND logical operations.
C++ #H AND difoiehel 3iT9ReT &l kel & folT HTORET HT 393NT
grar &

Ans | &&
1 Mark for writing correct operator.
Do not give marks if only single & is given.

1(vii) Destructor is a function that initializes an object when it is created.
True/ False
fBtcaFey T B & S Rl 3ifeoige o 9 W 3/ YR T gl
/38T

Ans | False IqcT

1 Mark for correct identification.

1(viii)

Images in an HTML webpage are added using the <em> tag.
True/ False




HTML & <em> 3T T 39T Flh SHS Sial oIl & | Tc/3acT

Ans

False g

1 Mark for correct identification.

Direction: In the questions given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct
option out of the choices given below in each question:

fader: i QU 1w geat A, Fye (A) 3R FROT (R) & ¥ # AT ar
FUA gl U I H Ard T 910 Fepedt A & @@t Aheq &1 I+
HIf:

Assertion (A): Using VARCHAR in SQL helps save storage space.
Reason (R): Unlike some other types, VARCHAR adjusts storage
based on how much data is actually stored, preventing unnecessary
space usage.
I.  Both (A) and (R) are correct and (R) is correct
explanation of (A).
II.  Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true.

®4sT (A): SQL # VARCHAR 3¢T YR T 39T TeReT TATH &
g H A HLar B

FROT (R): $& 3T JRT & fawld, VARCHAR aredidsh SeT & 3TUR
W TERST FH FARTST AT &, a9 3195 TR HT 39T JAar
grar &l

. (A) 3R (R) et @@ € 3R (R), (A) & G e g
1. (A) 3R (R) = @&r & 3R (R), (A) Fr Tgr arear =g
gl
. (A) I § oiferet (R) 318cT gl
IV. (A) 3@cT § oo (R) TcT gl

Ans

I. Both (A) and (R) are correct and (R) is correct explanation of (A)

l. (A) 3R (R) =t @@r § 3R (R), (A) Fr Tgr sarEm gl

1 Mark for correct identification.




Assertion (A): LAN (Local Area Network) is a type of network that
covers a limited geographical area.
Reason: LANs are designed to provide fast data transfer, resource
sharing, and efficient communication in a very large area.
I.  Both (A) and (R) are correct and (R) is correct
explanation of (A).
.  Both (A) and (R) are correct and (R) is not the correct
explanation of (A).
lll.  (A) is true but (R) is false.
IV. (A) is false but (R) is true

FY (A): LAN (Sihel TRAT sAcash) T YhR & dAcas g oif U dfad
sl & &l Haw AT gl
$ROT (R): LAN &I T §gd 93 &1F & doft & SeT §&AcRoT, FHTET
AISTOT 3R e HAR TeTel el & ToIw f3aimeger fohar o g
. (A)IR (R) gt & g 3R (R), (A) Fr F&r <IrEan gl
1. (A) 3R (R) el &@gr & 3R (R), (A) Fr Tgr arear =gl
gl
. (A) T § ofeheT (R) 318cT gl
IV. (A) 38T g ofehed (R) TcT gl

Ans

[. (A) is true but (R) is false.
. (A)3R (R) @&t @8 & 3R (R), (A) H TE e gl

1 Mark for correct identification.

SECTION B

(Each question carries 1 mark)

Write syntax of “while” loop in C++.

C++ # " cgigel " oW & [ fod|

Ans

Syntax of "while" loop in C++:
C++ # "egrgel” oUW 1 f&dea:
while (condition)

{
/I code to be executed or loop statements

/I updating the loop variable or increment

}




For Example:
3cTeX0T & fow
int i=1;
while (i < 5) {

printf("l am an Indian") // loop statements

i++; // updating the loop variable

}

This while loop will print the output i.e. “I am an Indian” 4 times.

Ig o[¥ 3M3eYe I " | am an Indian " & 4 SR e M|

1 Mark for any correct syntax of while loop.

(Deduct 2 mark if there is any syntactical error)

Do not deduct any marks if example is not given.

Do not deduct any marks if any correct example of the syntax is

given.

Define object in C++.

C++ H 3ifsaige & gReRT H|

Ans

An object is a variable of a class, encapsulating data and
behaviours.

T Healde Tdh Folld & Th dRUTH &, oIt 3T AR TIgR & FATRA
T Bl

OR
In C++, an object is a real-world entity represented by a class
C++ #H, Teh 3ffeside Ush arEdideh giaiar $T sohig § o0 Teh Folrd
GaRT T JTar &

OR
An object in C++ is an instance of a class with associated data and
functions.
C++ H T 3ifeaide FaT 3T 3R BT & AT U FollF & Th
3ETE0T &




1 Mark for any correct definition of object other than above also.

Define Database.

SCIad &I RN il

Ans

Database is a collection of records (organized data or structured
information) stored in a computer system.

scred RAE 7 (caaffyd 3mer &1 a1 TR SeIaRT HI) TIE § I Th
HTY H TR AT 1 &

1 Mark for any correct definition of Database.

Define array.

W FH gRIAR™T F|

Ans

An array is a collection of items/elements of the same data type

stored at contiguous memory locations.
AT STeT T8 & 3SCH/TTIAC & HIE I W FHgl SdTl g o o)
HART TN 9N TR & ¢

1 Mark for any correct definition of Array.

SECTION C

(Each question carries 2 marks)

Consider a table named StudentDetails with the following attributes:
StulD, StuName, and the Game in which he is interested. Check
whether this table satisfies the First Normal Form (1NF)
requirements. If not, provide a modified version of the table to be in
1NF.

T ol forEehr A1 StudentDetails & 3R o@s Aefaf@d aqor ¢
StulD, StuName, 3k Game 5@ ag s @ar g1 I8 o< foh &1
I T Tgell A B (INF) &1 3TaRIFae i Hr g1 30N 8,
dr aer T ST HEROT YT &Y T INF &7 qreled Xl gl

StulD StuName Game

101 Rahul Sharma Cricket

102 Priya Patel Baseball, Cricket

103 Sanjay Verma Football , Volleyball

104 Aishwarya Singh Volleyball

Ans

The given table StudentDetails does not satisfy the First Normal
Form (1NF) condition of “atomic (single) values in each column”.




The "Game" column contains multiple values separated by commas.

To bring it into 1INF, we can create a new table. Here's the

modified version:

StulD StuName Game
101 Rahul Sharma Cricket
102 Priya Patel Baseball
102 Priya Patel Cricket
103 Sanjay Verma Football
103 Sanjay Verma Volleyball
104 Aishwarya Singh Volleyball

The modified version of the "StudentDetails" table is now in the

First Normal Form (1NF) by ensuring atomic values in each column.

This normalization will give better data organization and avoids data

redundancy.

few 37T 9T "StudentDetails" gelr Ao ®BiE (1NF) Fr erd “ufa
FlelH H WCIAS (Vehol) I Gl 1 QT o7& AT &1 "Game" Hlotd
v ¥ 3f0F dog FT FAHE § SN HUfaH § di a0 g

INF & o 3 & AU, gA Ueh 518 eaof 9o Tohd g1 NG FEhor

&
StulD StuName Game
101 Rahul Sharma Cricket
102 Priya Patel Baseball
102 Priya Patel Cricket
103 Sanjay Verma Football
103 Sanjay Verma Volleyball
104 Aishwarya Singh Volleyball

F9R fear "StudentDetails" ¢qeT T TNTAT TEHIOT 3T Tgell Aleel
BIA (INF) # g, [0 @l sfed & v § a1 weifds deg g1 39
FUR F 3¢ T 95k § Farfod fohar S Feval § 3R SeT 1 eRgha
(@E3=d)) ¥ §°1 AT GhaT B

2 marks for identifying that the table is not in 1NF.

Y2 marks for giving the reason that why the table is not in 1NF.

1 Mark for correct modified table which is now in 1NF.




Do not deduct any marks if no explanation is provided after
modifying the table.

Avoid spelling mistake.

OR

What do DDL commands do in SQL? Explain CREATE TABLE

command with an example.

SQL # DDL FHAISH FIT HIHA FIdl 5?2 CREATE TABLE &HS &l
3cTeXur dfgd HAST|

Ans

DDL, or Data Definition Language, commands in SQL are used for
defining the structure of a database. They allow users to create,
modify, and delete database tables.

One example of CREATE TABLE, which is used to create a new

table in the database. Here's an explanation with an example:

CREATE TABLE Students
(
StudentID INT,
StuName VARCHAR(50),
Age INT,
);

e CREATE TABLE is the DDL command used to create a new
table.

e Students is the name of the table being created.

e The columns StudentlD, StuName and Age are defined along
with their data types.

e INT and VARCHAR are data types.

This command creates a table named "Students" with columns for

student information.




SQL # DDL, 31 3cr sSfhfeiere oledst, A &1 391eT Serad &l el
&l 8BS &ial & AT fhar SI1ar 81 9 JoR &l Serey el Felle,
AT et AR gere @1 3egAfa o &

DDL %#A8 CREATE TABLE &7 3931497 S H Ueh o8 & Sl &
forT foham STam &1 T8T Teh 3¢TeX0T & AT Teh TASCIHT g

CREATE TABLE Students
(
StudentiD INT,
StuName VARCHAR(50),
Age INT,
);

CREATE TABLE U& 15 9 T & folT 39er fham et arelm DDL
TS

* Students S5 ST T &g & ATH &

* &icld ©TF StudentlD, StuName 3R Age &' 3% 3cT Y&RI & TATYT
ofRenfa fRar = g

* INT 3{R VARCHAR 32T 9&R g|

IJg FHHATS "Students" ATH FH UH Iol 38d HiclH & AT TAH gl

2 marks for explaining use of DDL Commands.

1 mark for using correct CREATE TABLE Syntax in any example.
Y2 marks for explaining the example.

Deduct 2 marks for any syntax error.

Do not deduct marks for any spelling mistake.

What is Default constructor in C++?
C++ #H f3Wiee el FaT &7

In C++, A constructor without any arguments or with the default
value for every argument is said to be the Default constructor.
They are used to create objects, which do not have any specific
initial value.




C++ #H, U shegaex o@d #1g ot 3mfdc el glar a1 ycdsh 3mefde &
foT RBwlee 3oy a1 €, 30 'RBwlee FEgaet Fgl S1aT &1 FHH 3T
3o1 3feolded F g & fov Far Srar g, e f15 faftse aRfdw
dog el gl

The syntax of a default constructor:
fSthice aecael &1 fAewy:
class ClassName

{
public:

ClassName( )

{
/I Constructor body
}
2
OR / =T
Programming example of default constructor:
fBwiee FEeFel T FRATAT IeTeor:
#include <iostream>
using namespace std;
/I declare a class
class Wall {
private:
double length;

public:
/I default constructor to initialize variable
Wall() {
length = 5.5;
cout << "Creating a wall." << endl;
cout << "Length = " << length << end|;
}
2
int main() {
Wall wall1;
return O;
}

The output of the program

Creating a Wall
Length = 5.5




1 Mark for any correct definition/ explanation of default constructor.
1 Mark to write correct syntax.

Deduct 2 marks if there is any syntax error.

Do not deduct any marks for correct explanation even without
programming.

Give full marks attempting the programming example with correct
syntax and output even without theoretical explanation.

Explain COUNT () function in SQL, providing its syntax and an
example.

SQL # COUNT () el &l HSU, 38T fAcHd AR T 3erexor
Yere |

Ans

The COUNT () function in SQL is used to count the number of rows
in a table which matches a specific criteria. It is used to count a
field/column/attribute in different expressions. It takes the name of a
column as its argument.

SQL # COUNT () Wereled &l 39N ¢l H Uidadi &l F&Ir & [@eda
& fou fFar Srar g1 saer 33U Offed ey & o
Pres/hicrH/TTEsge &I VT & fIT fRam SIIar §1 I8 319e 3mHT & &9

H TP HIIH HT ATH ol gl

Syntax of COUNT ( ) function:

COUNT () W& &7 f{eaw

SELECT COUNT(column_name)

FROM table_name;

This query will return the number of non-null values in the specified
column of the specified table.

For Example:

If you want to count the number of orders made by a customer in a
shop, you can use the following query:

75 T Pfise afee ¥ Mfise Howr 3 iea qeat 1w -
diteraaf|

3SRV & AT e et gepleT A fReT gk @R fohT 1T 3T hr
TEAT IUTAT e &, A 31T Re=faf@a a8 &1 3uaer & aa §:
SELECT COUNT (order_id)




FROM orders
WHERE customer _id = 123;

1 mark for any correct definition of COUNT ( ) function.

Y2 mark for correct syntax.

2 mark for any correct example of COUNT () function.

Deduct 2 marks for any syntax error.

Even if there is a spelling mistake other than syntax, do not deduct

any marks if the concept is understood.

Explain the concept of container tags in HTML with an example.
U 3GIEX0T & @I HTML & container ¢3T &l HST|

Ans

In HTML, container tags, also known as paired or nested tags, are
used to define the beginning and end of an HTML element. They
come in pairs - an opening tag and a closing tag. The opening tag
marks where the content begins, and the closing tag marks where it
ends. Together, they wrap around the content.

Some of the container tags in HTML are:
e <h1> and </h1> create a container for a level 1 heading.
e <p> and </p> define a container for a paragraph.
e <a> and </a> create a container for a hyperlink.

For example:

<p>This is a paragraph.</p>
<p>This is another paragraph.</p>

In above example, when the browser renders this HTML, it will
display the first paragraph, then move to the next second paragraph.

HTML &, $eaR &3q, foeg 98 a1 a1ves &g off &gl Srar &, el
HTML tfeie &I e3nd 3R Fafea & aRefia ae & fow sea#r
gid &1 ¥ IR B § - T 3NufAer &9 3R v FafSier ol anafAer dar
39 T H RfEAd ar & STeT e YE B &, IR Fehfstr o1 39
T A REAT Far § S8l Shiee TATCT 8T &1 So6 AR, T e
calorr i

%6 HTML #eeR &9 ¢
e <h1> 3R </h1> T T 1 BT & AT FeR dara T
* <p> 3R </p> T REMF F AT He” Fr IRAVT FT B




* <a> 3R </a> TH gEWicd & f&IT FR T |

31T & forw:

<p>Jg Th WA gl</p>

<p>3g T 3 Was gl</p>

g 3cTe0T H, J9 s3eR 39 HTML T 38T aar &, aF I8 9ger REme
feeam, Y qEv WRramw A Sear|

1 mark for any correct definition of container tags.

1 mark for explaining the concept of Container tags with an
appropriate example of any one container tag.

Y2 marks if only tag name are given without explanation.

2 marks for explanation of any one tag.

10.

In a green village in India, Nisha and Aryan used a computer to
send messages to their friends. With the help of something called
SMTP, their messages went really fast through the internet, like a
cool wind. They found out about HTTPS, a special guard for their
online talks, keeping them safe, just like the trees kept their village
cozy. In their small, nature-loving village, using the computer felt like
a gentle way to connect with friends and take care of the Earth at
the same time.

R & U gL-9X g &, fAem 3R 3T 319eT gredr &l T6er foted &
T U egex T SEAATST X Al SMTP A fohdl =et dr #Aee 4,
3oTch TG 3CIeIC o ATH ¥ TRAd H odoif & Tof [T, Teh Sar gar al
RE| 378 HTTPS & SR & 9dr Iall, St 3a7ehT 3iTTelised aadid & faw
T AV g g, S 3¢ AT @dr g, 8 38 g S U5 37 9Md
H JRACIS WA Y| A9 BIE, YHIA-9 M &, FTIEI & 3TANT
AT Sl & T o1 3R Toh & THY & gl T S@HTS A & Th
e alre

I. What role does SMTP play in the email delivery process?

a. Receiving emails

b. Storing emails

c. Sending emails

d. Encrypting emails

sA faavor ufshar & SMTP = siffer femmar g2
a. $HoT UIed T

b. SHA HIET FLAT

Cc. SHA AT

d. AT FI Theshte B




Il. What is the purpose of HTTPS?
a. Secure email transmission

b. Secure web communication

c. Secure file transfer

d. Secure database access

HTTPS &1 3¢52T &1 87

a. GIiETd A grafaee

b. & 45 TR

C. GI&T BISel TUTATROT

d. R SereE ag

Ans

l. c. Sending emails

c. AT AT

Il. b. Secure web communication

b. Ff&T 39 FIR)

1 mark for any one correct identification.

2 marks for both correct identifications.

Do not deduct any marks for any spelling mistakes if option name is
correctly written.

SECTION D
(Each question carries 4 Mark)

11.

What is Data Item in data structure? Write down the algorithm for
inserting and deleting data in stack.

STT TITAT H 32T HISSH FAT g2 T H 3T 3Tl 3 gerd & fau
TIREH ferdd|

Ans

Data item refers to the basic unit of information that can be stored,
processed, or manipulated by a computer. For example Name is a
data item of text or string data type and age is a data item of
integer data type etc.

3T IIFTH 3 Afqh STl T Fefdd Ham & S foredl shegex ganT
TR I 97T fRAr ST Fhdr g1 3818I0T & folT, STH Ueh 3T 3TSCH §
ST text AT TEIT SeT Yoh &1 & 3R MY Teh ST 3MSCH § ST integer
3¢T YR FT § 3|

Whereas

Stack is a linear data structure that follows the LIFO (Last-In-First-
Out) principle. For Eg. Stack of books.

Inserting a new element in the stack is termed a push operation.




Removing or deleting elements from the stack is termed pop
operation.

TEH Th el YR H 3¢T TCFR § oif LIFO (FEe-8o1-HEe-3113¢)
fcurd & areleT aXdr § 3a18<0T fhdar & ¥

TH H T 91 Tferde STeet sl PUSH 302 gl ST g

T T ufodic & g AT geld Sl POP 3TN Hgl Sidr g

Push algorithm:
Push operation includes various steps, which are as follows :

Step 1: First, check whether the stack is full or not
Step 2: If the stack is full, then exit

Step 3: If not, increment top by one

Step 4: Insert a new element where the top is pointing
Step 5: Exit

PUSH 3iT9eeT TedaniRea:
PUSH 3iTqeeT & faffie =Ror enfaer § S 39 uaR §:

TOT 1: FIH Ugol, o b & Wgﬂﬂ‘s‘mﬂﬁ
T 2: 3R & Pol & I &, o exit A

wOT 3: A A4ET, dF <9 A U H gy A

TWOT 4; Ueh 14T UftHAe 3Tel g7 TOP uige o @ §
TROT 5; d18X Aol

OR / ar

begin procedure push: stack, data

if stack is full
return null
endif

top « top + 1
stack[top] < data

end procedure

POP algorithm:

Pop operation includes various steps, which are as follows:
Step 1 - Checks stack has some element or stack is empty.




Step 2 - If the stack has no element means it is empty then
display “underflow”

Step 3 - If the stack has element some element, accesses the data
element at which top is pointing.

Step 4 - Decreases the value of top by 1.

POP 3iTaXers TeailRgH:
POP 39T & faffie @or anfder €, o 39 UK §:

W7 1 - I &b H $O dcd § TN Th Tlell g

TOT 2 - I TFh H IS decd oTal ¢ TGl Aded ¢ foh Ig Tlell & ar
WOT 3 - I Tk A dAcd FS ced %,Fﬁwéadcqaﬁqgudl%m
X Y ST 1 TET B

TOT 4 - Y & AT A 1 F HF T &l

TOT 5 - A3y JRereT Ahedgdes fRar I

OR / =T
If TOP=-1
return "Underflow"

endif

item=Stack[Top]

top=top-1

return Item
end

1 mark for any correct definition of data item in Data Structure with
example.

1 and 1/2 Marks for each correct algorithm for push and pop.
Deduct 2 marks if there is any syntax error while writing algorithm.

OR

What is Bubble Sort? Explain with example.
gl AIC FAT §? 3160 T FHSSU|

Bubble Sort:
Bubble Sort is a sorting algorithm that repeatedly steps through the
list, compares adjacent elements, and swaps them if they are in the




wrong order. The pass through the list is repeated until the list is
sorted. For Example:
Let's say we have an unsorted list: 5, 2, 9, 1, 5.

Pass 1:
Compare 5 and swap): 2, 5,9, 1, 5.
no swap): 2, 5, 9, 1, 5.
swap): 2, 5, 1, 9, 5.

swap): 2, 5, 1, 5, 9.

2
Compare 5 and 9
Compare 9 and 1

5

(
(
(
Compare 9 and 5 (

Pass 2:

Compare 2 and 5 (no swap): 2, 5, 1, 5, 9.
Compare 5 and 1 (swap): 2, 1, 5, 5, 9.
Compare 5 and 5 (no swap): 2, 1, 5, 5, 9.

Pass 3:

Compare 2 and 1 (swap): 1, 2, 5, 5, 9.

Compare 2 and 5 (no swap): 1, 2, 5, 5, 9.

No more swaps are needed, and the list is sorted.

Sorted List: 1, 2, 5, 5, 9.

Bubble Sort is not the most efficient sorting algorithm for large
datasets, but it's easy to understand and implement.

q9d FIE: T FIC TH WU AT TeaiRed ¢ S G H aR-aR
AT §, ceal i Jolell Al &, 3R I T a7 e A &, o 3¢ 399
# deelar g1 G & @l dedl W Ig 9isham R-IR agrs Sfal §, e
deh I hATCY el 8 STl |
3aTevr:
T AT of §H Toh shAdey =gl A 8: 5,2, 9, 1, 5
1. 999 1:
e 532 & Jolell W (§&el): 2, 5,9, 1,5
. 53m9£rgﬂd|aﬁ(qqdldaﬁ§3ﬂ): 2,5 9 1,5
e 9 3R 1 & Jolell W (§&el): 2, 5,1, 9,5
e 9 3R 5 & Jofell A (S&el): 2, 5, 1, 5, 9
2. 99 2:
e 23R 5 & JoIaT HY (Jeoa AeT g3M): 2, 5, 1, 5, 9
e 53R 1 & Jolell X (del): 2, 1, 5, 5, 9
e« 53R 5 &1 JoIaT HY (Jeoa Aer g3M): 2, 1, 5,5, 9
3. 99 3:




e 23R 1 & Jolell A (§eel): 1,2, 5,5, 9
e 23R 5 & JoAaT HY (Jeea AT g3M): 1, 2, 5,5, 9

3R FIS dgara Fr TR ar g §, AR A FHATCY B
|iés g 1,2, 5,5, 9

goel HIC 99 STUCH & ToU Had a7 A8l §, dAfehed T§ FHS 3 o)
A H TA gl

1 mark for any correct definition of bubble sort in data structure.

3 marks for correctly explaining the concept of bubble sort with any
example.

Give marks in the example stepwise accordingly if needed.

12.

Explain any 4 phases of SDLC.
SDLC & fohegl 4 TROUN &I SrEdm HIfoT|

Different phases of SDLC are as follows:

—

Requirements gathering and analysis or Survey

)

2) Feasibility study or Investigation and Fact Recording
3) Software design

4) Development or Coding

5) Testing

6) Implementation
7) Maintenance

Requirements gathering and analysis or Survey: First phase of
SDLC is to collect the requirements from customer. Survey is the
part of Requirement gathering phase of SDLC. Survey is the best
technique to collect the requirements. We can do survey with
following techniques:

1. Interviews

2. Questionnaires

3. Observation

4. Sampling

Feasibility study or Investigation and fact recording: It is a part of
Requirement analysis phase of SDLC. All the requirements collected
through surveys are investigated in this part. Feasibility study means
to check if it is possible to make the software or not. After
investigation of the requirements, final facts are recorded for
analysis.




Software Design: The next stage of SDLC is the Design phase.
During the design phase, developers and technical architects start
the high-level design of the software and system to be able to
deliver each requirement.

Development or Coding

This phase of SDLC comes when we have gathered the
requirements and when our design is ready. The software developer
starts coding according to the requirements and the design.

Testing

Testing is done before the software is delivered to customers so that
the software exactly matches their requirements. Testers usually find
errors or bugs in the software in this phase. There are two types of
testing methods:

1. Black Box testing: The technique of testing without having any
knowledge of the interior workings of the software is called black-box
testing. The tester cannot see the code but only can use the
software to find any bugs or errors.

2. White Box testing: White-box testing is the detailed investigation
of internal workings of the code. White-box testing is also

called glass testing or open-box testing. In order to perform white-
box testing on an application, a tester needs to know the internal
workings of the code.

Implementation

In this phase, the system is installed to support the required function
for which it is developed. It includes user notification, user training,
installation of hardware, installation of software onto production
computers, and integration of the system into daily work processes.
This phase continues until the system is operating in production in
accordance with the defined user requirements.




Maintenance

The maintenance phase of the SDLC occurs after we have delivered
the software to the customers. Maintenance of software can include
software upgrades or any error or bug fixing which the customer
finds.
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1 mark each for any correct explanations of any 4 phases of SDLC
Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is
written in Hindi. i.e. consider Software or @¥cdaX both as correct.

OR

What is software testing? Explain any two types of testing methods
used in software development.




HIFeaR GUET0T F7 §? HireddX faehre # wgerd fanedl & Jehr &hr
eTor fAfat & Tose Hifav]

Software testing is the process of evaluating and verifying that a
software does what it is supposed to do.

There are two methods of testing
1) White Box testing
2) Black Box testing

White Box Testing: White box testing is a testing technique that
focuses on the internal logic, structure, and code of the software.
Testers who perform white box testing have access to the source
code, and they design test cases based on the knowledge of how the
software is implemented. The goal is to ensure that each individual
component and the entire system work as expected. White box testing
involves checking the internal code and logic of the software, and an
example could be testing a sorting algorithm to ensure it correctly
arranges elements.

Example of White Box Testing: Imagine you are testing a function in
a calculator application that adds two numbers. In white box testing,
you would look at the actual code of the "add" function. You might
design test cases to check if it correctly handles positive and negative
numbers, if it works with decimals, or if it handles edge cases like
adding zero.

Black Box Testing: Black box testing, on the other hand, is a testing
method where the internal logic, structure, and implementation details
of the software are not known to the tester. Test cases are designed
based on the specifications and requirements of the software. The
goal is to ensure that the software functions as intended, regardless
of its internal workings. Black box testing, on the other hand, focuses
on the external functionality without knowledge of internal code, and
an example might be testing a search feature on a website to ensure
it returns relevant results without knowing the underlying search
algorithm.

Example of Black Box Testing: Consider testing a login functionality
in a website. In black box testing, you don't need to know how the




login code is implemented. You would design test cases to check if
the login works with valid and invalid credentials, if it handles password
recovery, and if it redirects users to the correct pages upon login.

Both testing methods are crucial for comprehensive software
quality assurance.
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1 mark for any correct definition of software testing.

1% marks each for any correct explanation of two methods of
testing.

Ignore any spelling mistakes in Hindi as well as in English if the
meaning of the word is understood.

Do not deduct any marks if the English version of the word is
written in Hindi. i.e. consider Testing or ¢f&cT both as correct.

13.

Explain briefly all the layers of the TCP/IP model.
TCP/IP #Higel &1 @l qdl & H&T # FHASSVI

Application Layer

Consists of applications'programs and processes that nse the networlk
A

¥
Transport layer
Provides end-to-end data delivery services

I

Network/lnternet layer
Defines the datagram and handles the routing of data

Physical/Data lin kHIetwnrk access layer
Consists of routines for accessing physical medias

The TCP/IP model serves as a roadmap for effective communication

among devices on a network, ensuring a seamless exchange of
information. Comprising four layers, each layer performs distinct
functions to facilitate efficient communication:
1. Application Layer:

o Importance: The application layer acts as the interface

between our everyday applications and the network, enabling

smooth interactions. Browsing the web, sending emails, or
sharing files, this layer ensures that user-facing applications
can effectively communicate with the network.

o Key Functions: It manages communication protocols (such as

HTTP, FTP), and allows applications to access network
services.
2. Transport Layer:




o Importance: The transport layer ensures the reliable delivery
of data from one point to another. It maintains the integrity
and accuracy of the transmitted information.

o Key Functions: This layer check end-to-end communication,
performs error checking, and manages flow control. Protocols
like TCP and UDP is used in this layer.

3. Internet Layer:

o Importance: The internet layer serves in routing data between
different networks. It include device communication with each
other to form network.

o Key Functions: It assigns IP addresses and routing of data
packets. The Internet Protocol (IP) operates at this layer.

4. Link Layer:
o Importance: The physical connection within a local network is
the responsibility of the link layer.
o Key Functions: The layer manages the physical connection,
addresses devices in local network, and also do data framing.
It include Ethernet and Wi-Fi.

TCP/IP #Aisel U sicds IR 30N & oId JHEN IR & foIw T
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T HLAT 8
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Y2 marks for full form of TCP/IP.
1% marks for naming all the layers of TCP/IP.
1/2 marks each for correct explanation of all layers of TCP/IP.

OR

Explain the following:
fArafaf@a & sarear fifeT:
i. HTTPS

i. Web Address

iii. Search Engine

iv. WWW

Ans

i. HTTPS (Hypertext Transfer Protocol Secure):

e Internet Bodyguard: HTTPS acts as a bodyguard for your
internet activities.

e Encryption Expert: It encrypts (puts in a secret code) the
information you share online, such as passwords and personal
details.

e« Safe Online Transactions: Essential for secure online
transactions, like shopping or banking, HTTPS ensures your
sensitive data remains private and protected.




Trusted Connection: When you see "https:/" in a website's address,
it's a sign that your connection to that site is safe and secure.
Without HTTPS, personal information could be at risk during online
interactions.

ii. Web Address:

Web Address or also named as URL (Uniform Resource Locator) is
a unique identifier used to locate a resource on the Internet. Every
webpage on internet have unique address to help people locate it. It
is also referred to as a URL. It consist of multiple parts i.e.
including a protocol and domain name.

iii. Search engine:

A search engine is a tool on the internet that helps you find
information by looking through a huge collection of websites. It is
like a super-smart librarian for the internet. When you type
something into a search engine, like Google, it looks through billions
of web pages and quickly finds and shows you all the websites,
articles, and pictures related to what you want to know.

iv. WWW

WWW is a collection of documents and other web resources which
are identified by URLs and can be accessed and searched by web
browsers via the Internet. WWW is also called the Web and it was
invented by Tim Berners-Lee in 1989. All the web pages can be
viewed only with the help of web browser.

i. HTTPS (B3URRTEC T®Y MelHlar FIfara):
TIEIETE Ush FIATT Selele Wielnld ¢ St daased § SeT S3aels
3R 31els el T GBI AT o &1 ST 3T el i dearse
W g & (T TIRT "https://" F & g §), A e a1 wipee
giaT &, TS ad 3ftiehd cafddat T 38 UG ®idel g il &

ii. a9 TIH:

a9 39 Us fafise qgaretedl § e 39T Seieie W oy gares
FT IdT oA & T fFAT STaT &1 Seeiec W &Y JauST &T 39T fafrse
9T 8T & TSad Sl I 39T 9dT oellel # Hee fAeldr gl 38 URL
(Uniform Resource Locator) 87 &gl 1T g1 a9 U3H H &3 HIT 8id &
T Gietdid 3R SAeT a1 afgd|

iii. T g7 :




T TY Sole] Seieic W Th 3YSRUT § S U de98eH & 93 TIg I
STIhRT Gal H Heg il g1 T§ Setele & foIv Teh ITaaquradr drel
TEAHIT H ARG BT ¥l T AT FT T Y S, S F Google,
T8Y X &, d I§ 3RS A9 UsH dT S T g 3R e ¥ 3mas
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iv. WWW (33 a1838 a9): Ig gEaidelt 3R 3= a9 @y« &1 T
HIE § Sl URL GaRT Ugalel Sl ¢ 3R $eeie & ALTH § 99 s8R
CaNT TFEE 3R @il S H@hd 81 WWW &l a9 8t &gl Sfiar § 3R
SHHT INASHR oA Tad-of o 1989 & fFar a1l Tl 39 IS & FHaoT
a9 §139 6T Ace T & Wl AT FohdT gl

Y2 marks for full form of HTTPS without spelling mistake
2 marks for any correct explanation of HTTPS

1 mark for any correct explanation of Web Address

1 mark for any correct explanation of Search Engine

Y2 marks for full form of WWW without spelling mistake
Y2 marks for any correct explanation of WWW

14.

What is Inheritance? Explain Single, Multiple and Multilevel
inheritance in C++.

SAeReH FIAT §? C++ H f{9rd, Acdival 3R AcIolad sAeRed Fr
SITEAT ST

Ans

Inheritance is the ability of a class to inherit all the properties and
characteristics of another class. The class that inherits the properties
from another class is known as child or derived class. The class from
which the properties is being derived and inherited is known as the
parent or base class. Derived class can inherit data members, member
functions of the base class.

Real life example of Inheritance: A child inherits properties and
characteristics from his/her parents, like, color, height, weight etc.

The 3 types of inheritances which we have to explain are:
1) Single Inheritance
2) Multiple Inheritance
3) Multilevel Inheritance

SIEREHT Teh Follg T 3 Fold & Fol 01 3R fFATAwt v gree
A I &THCT §| 96 Folid ST TRl 3T &t & (0T WIed &l &, 39
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STl &1 I1Se8 FId ST e&dl, 38 Follg & AFGL3RN Bl Fl ured
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3 YR & SeloRed folog &8 GHSAE &
1) Rt seiew

3) Aot SRR

4) Aecroldd FeAgRed

Single Inheritance: In this inheritance, a single class inherits the
properties of a base class. All the data members of the base class
are accessed by the derived class according to the visibility mode
(i.e., private, protected, and public).

R seefién: 50 swiew &, & RBere Fad 98 Faw & o H
geT AT £l 97 Ford & T ST geEdt o AR A (IEh
wIsde, WMeFes IR ufecieh) & IHTER  SRISes FoTd canT vardy fohar
ST &l

base_class

|

derived_class

Multiple Inheritance: The inheritance in which a class can inherit or
derive the characteristics of multiple classes, or a derived class can
have over one base class, is known as Multiple Inheritance. The
derived class can derive the joint features of all these classes and
the data members of all the base classes.

HedlUd SAeRcH: I8 SAeRed [oTad Udh Folld &he Folld I faLraarsit
I YT T Hehell §, AT Teh SNIScs Folld H Ueh ¥ TS 98 Folrd &l
bl &, AT SAGNEH & & H S AT &1 SRS Folrg o7 ol
Fol I T TAATABIT R Tl 97 Forg & &1 FeH At Al 9o
LTINS




base_class_1 base_class_2 base_class_3

derived_class_2

Multilevel Inheritance: The inheritance in which a class can be derived
from another derived class is known as Multilevel Inheritance. Suppose
there are three classes A, B, and C. B is the base class that is
derived from class A. Now, C is the class that is derived from class
B. This makes class B, the base class for class C but is the derived
class of class A. This scenario is known as the Multilevel Inheritance.

Hecloldd SogRed: dg SeleRed foldd Teh Folld fhdl 3T 3RS
FAE T YIS HT ST Fhal &, Acl oddl SAeREH & &I H Fl FATdT gl
AT NoT fF T Fam@ A, B3R CEI B U Fard g S g A @
yred g 1 319, C 98 Forg § oY FoIrd B & 9o gl &1 FoIrd B,
FAHC & AT 98 Folrd & ofhed Folrg A &I SRIscs Folld gl 39
HAodloldd SeRed & ®T H ST AT gl

Class_A

l

Class_B

l

Class_C

1 Mark for correctly defining Inheritance concept.

1 mark for correctly explaining Single inheritance.

1 mark for correctly explaining Multiple inheritance.
1 mark for correctly explaining Multilevel inheritance.
Do not deduct any marks for not drawing diagrams.

1 mark for only making correct diagrams of all 3 inheritances.

OR

Write a program in C++ defining a class named Student with public
member studentlD, studentName, and studentmarks. Subsequently,




implement a public member function named printStudentinfo that
prints information for an object of the Student class.

Teh C++ 9rna for@l f9@s Tah class &7 student & a1 & gReTiva
frar ST, TS studentlD, studentName, 3iR studentMarks =T
public TEET gl 4% §1¢, TH public member function
printStudentinfo &1 o] &Y ST 'Student’ F&T & 3ifeatae & fow
SRR T #ar gl

A C++ program defining a class named Student with public member
variables (studentIlD, studentName, and studentMarks) and a public
member function (printStudentinfo) that prints information for an
object of the Student class:

U C++ YIMA ST public member variables (studentID, studentName,
3R studentMarks) & TTU Student =ITHE TS class HI IRNT FHIam

£ 3K & public member function (printStudentinfo) ST Class student
& 3ifeage & OIT IEHRT W Far g

#include <iostream>
class Student {
public:
/I Public member variables
int studentID;
char studentName[50]; // Using a character array for the name
double studentMarks;

/l Public member function to print student information
void printStudentinfo() {
cout << "Student ID: " << studentlD << endl;
cout << "Student Name: " << studentName << endl;
cout << "Student Marks: " << studentMarks << endl;

I3

int main() {
/I Creating an object of the Student class
Student student1;
/I Assigning values to the member variables
student1.studentlD = 101;




student1.studentName[0] = 'R";

student1.studentName[1] = 'a';

student1.studentName[2] = 'm’;

student1.studentMarks = 95.5;

/I Calling the printStudentinfo function to display information
student1.printStudentinfo();

return O;
} Output of the above c++ program:

3YNF_c++ QI HT_3M3eYC:

Student ID: 101
Student Name: Ram
Student Marks: 95.5

Y2 marks for correct header file inclusion.

Y2 marks for defining class Student.

2 marks for declaring data members.

2 marks for defining printStudentinfo() function.

2 marks for defining main() function.

2 marks for creating object in main function.

Y2 marks for calling printStudentinfo() function.

Y2 marks for correct output of the program.

Do not deduct any marks for case sensitivity issue (if any).

Do not deduct any marks for spelling mistakes in variable names.




